4

7

H

y

5=1:250

MEIER L=1400. 00m

25 BT ED2Mh 5 L=359. 00m

35 & Fr

ZIRIER L=9. 00m

(T.1)
BM H=100. 000

fZmMn  L=1300. 00m ¥BaET L=91.00m
Jay T  BW-L-N-0/3(bS))

H=2.50 L=8. 04 a5 & X FEAZ Y B i
T.1 287.970 289.901 |BMZEFH

T.2 310. 666 297. 350

Z IP. 1 300. 000 300. 000

BC. 1 291. 260 294,137

B.P 295. 624 296. 564

0+1. 39 296. 904 297.107

0+3.00 298. 415 297. 660

MC. 1 300. 450 298. 264

A 0+7.00 302. 274 298. 677

E. P(0+10. 00) 305. 243 299. 099

EC. 1 310. 488 299. 117

2 " — V:$=1:100
it BT M X wis-1i50
105. 00
] I
P ey
100. 00 :::::::::::::::""—_—‘—
. _
10250 ]
DL=95. 00
) il
|
% T
| | | | | | | |
= Lo Nz o 5
o o o o o o o
Y] T
I I I I I I
> L8 8 2 3 =
= —_ 8 g8 8 8 8 8
&t 5] =
I I I I I I
= B L © B = 2 S
- g g8 8 8 8 8 S
ih iz =
I I I I I I
S 8 & 8 @ S S &
ul':' o — ™ [re) ~ 9 e
-~ e
B N FE B
| | | | | | | |
g s% s = & 8 <
f=} [Te) —_ — o~ —_ f3e) o
=2 izl i3
I I I I I I
g
;EI] AN % 8 8 g
- a - o - ~ o -
2 - = & i 2
I N — I I I |
IP.1
1A=38-40-02
i !f‘i R =30.00  CL=20.25
i TL=10.53  SL=1.79

t2 M @

T

S=1:100

E. P(0+10. 00)

GH =100.83 FH =100.76

CH = 0.07
0.92 3.00
1.50 | 150
|
|
e = 2.20 (k& 1.20)
eR= -
B = 0.80
DL=95. 00
0+7.00
GH =100.73 FH = 100. 60
CH= 0.13
3.00
1.50 ! 1.50
[ —
|
e = 220 k¥ 1.60)
eR= -
B = 1.00
DL=95. 00
0+3. 00
GH =100.51 FH = 100. 39
CH= 0.12
3.00
1.50 | 1.50
D.H.W. L /_’I.\N/
= HW.L '
~ LWL ‘
) e = 240 (k¥ 1.70)
eR = -
B = 1.10
DL=95. 00
0+1. 39
GH =100.45 FH = 100. 30
CH= 0.15
3.00
1.50 ! 1.50
e = 2.80 (k& 1.50)
eR = -
B = 1.20
DL=95. 00

ta

=

19
T

Y

y

BEAZJOyIBI

BW-L-N-0. 3 (bS)

avyy—ksJavy

] =TI ES
S=1:50

EBEER t=0. 10m

0.10 0.59 0.10

S
RA#a
s FAraryY—+

RETIERL
0.79
JovoEMHEE my
H JOowy | EAaviY-b | BARA | o))+ | EBER | in B OB | EREAR
m m m m m m m m
2.50 2.245 0.236 0.28 0.178 0.57 0. 36 0.79
E.P +7.00 MC. 1 +3.00 +1.39
2. 80 1.75 1.99 1.50
FH=100. 76 -
A 9 9 o | -
i - - I I T L __| =ams
S [ o o o I
8.04
JovoEMHEE 2HYY
H JOowy | EAaviY-b | BARA | Eav))-+ | EBRER | in B B | ERER KIRE B h4t
m m’ m’ m’ m’ m’ m’ m m m’
2.50 18. 050 1.897 2.25 1. 431 4.58 - 6.35 4.70 -
EISEFT

i [EROEAE =g A MEXEBEHEE
MER? | B 8 B & HAX 5 3 & REHEE 20 km/h
& E3 ER25FE BIER = 7 b3 HT
£ b TEH - ENER - EEX 1 E 1 &
AT i REBEFMRABRARETKE A
& R E ® BEEE REtE




